Complete the Square MPM2DU Mr. Singh

Completing the square involves taking a quadratic relation of the form y = ax’+ bx +c into
vertex form y=a(x-h)?+k

Ex. 3 Write each of the following in vertex form.

a) y=5x?-30x+12 b) y=-3x2-12x+5
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c) y=-2x2+16x-3
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Ex. 4 Determine the maximum or minimum point of each parabola.

a. y=2x*+8x+7 h. y=x°- 14x+20
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c. y=-3x2-12x+5 d. y=5x2+10x-11
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Ex. 1 The path of a basketball shot can be
modelled by the equation

h=-0.09d? + 0.9d + 2 where h is the height of
the basketball in metres and d is the horizontal
distance of the ball from the player in metres.

a. What is the maximum height reached by the ball?

h=-001424 0%ch+2
h = ~O.O°\(d1,_\l)d+1§~,;\gw +2

hz-00%(ct ’~10d 425) *2.25 +2
h=-00%(d-5) « 4.as
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b. How far is the ball from the player
when it reaches maximum height?

”' The ball is 5m from
the player.



